Cutcome 1 Review

Level 2 _
1 Grven the grap[zam‘: tipe function y f(x) sketch the graph of each transformed function.
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3. Describe the transformation that can be applied to the graph of f{x) to obtain the graph of
the transformed function. State the values ofa, b, hand kiny=aflb(x-h}+k
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4. Determine the equation of the inverse of each function below algebraically. By Ooss
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5. Graph each function and its inverse on the same grid.
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Level 2

6. For each fuaction pair below, state how f(x} was transformed to create g(x) in the form of

gx) = af(b{x-h)}+k
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7. Write the equation for each transformation of y = x* in the form y = af (b{x — h)) + k.
a} a vertical stretch by a factor of 3, reflected in the y-axis, and translated 3 units left and 2

units down
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b) a horizontal stretch by a factor of 2, reflected in the x-axis, and translated 7 units up
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¢} a horizontal s(yeich_h\@or of L, translated 5 units right and 1 unit down
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d) a vertical stretch by a factor of 778 horizontal stretch by a factor of %,and reflected in

the x-axis

8. Here is the graph of y=f{x).

a) Onthe coordinate plane provided, sketch and label its image after a vertical stretch
by a factor of 3, and a transtation of 4 units left and 2 un&s\down.
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2 b) Write tfge equat:on of the transformed image in the form y = a f{b{x-h}}+k.
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?t'he x—mte?ce t mA the gra?bh of y=f{x} is (g, 0} and the y-intercept is (0, b), determine the
x-intercept and y-intercept after the following transformations of the graph.
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V. A4 Determine the equation for the inverse of each function below.
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'Z}’f Copy each graph of y =f (x). Then, sketch the graph of its inverse, x =f { y). Determine
whether the i mverse is a function. if the inverse is not a function, restrict the domain

of f{x) so f{x)™* is a function &_ﬂ(%)
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